lllustrated Parts List

Pentair Aquatic Systems

Item (P/N11017)

StaRite
(P/N P6E6XS4H-209L)

Ly

i

—_—

No. IntelliFlo® VS+SVRS Pump IntelliPro® VS+SVRS Pump Description
1 070387 BASKET AQ & WF
2 070429 BOLT HEX HD, 3/8-16 x 7/8 S/S, (QTY 4)
3 070430 BOLT 3/8-16X 1 1/4 HEX CAP 18-8 S/S (QTY 4)
4 070431 BOLT 3/8-16X2 HEX CAP 18-8 S/S (QTY 2)
5 070927 ALMD 357159 BLK FOOT WF-PUMP MOTOR SUPPORT
6 070929 ALMD 357160 BLK FOOT INSERT WF PUMP
7 071131 ALMD 357161 BLK PLUG DRAIN WFE (QTY 2)
8 071403 NUT 3/8-16 BRASS NICKEL PLATED (QTY 2)
9 071406 NUT 1/4-20 SS HEX (QTY 2)
10 355227 O-R1NG 2-238
11 071652 SCREW 1/4-20x1LH, PHILLIPS PAN MS 18-8 SS
12 071657 SCREW 1/4-20 X 1in HEX CAP 18-8 SS (QTY 2)
13 071660 SCREW SET 4-40,1-1/8, WFE, SOC, CAP 8-8SS (QTY 2)
14 072183 WASHER FLAT 1/4x5/8 20 GA THICK 18-8 SS (QTY 2)
15 072184 WASHER 3/8 IDX 7/8 OD .05 THICK 18-8 SS
16 072928 DIFFUSER ASSEMBLY, BLACK
17 073131 IMPELLER
18 192115 GASKET FLAT WASHER WFE DRN (QTY 2)
19 075713 WSHR RUBB WFE PMP
20 350013 O-RING -436 5.85x0.275 BUNA N60
21 350015 ALMD 357157 BLK HOUSING WFE
22 350601 ALMD 357290 BLK CONTROL COVER ASSY
23 350105S ALMD 357294S BLK VFD MOTOR
24 350108 DRIVE GASKET
25 350142 SPACER CAP (QTY 3)
26 350202 ALMD 350203 BLK SEAL PLATE ASSY WF
27 351021 ALMD 353250 BLK DRIVE VS+ SVRS
28 357100 GASKET SANTOPRENE MOLDED(not servicable part)
29 357151 LID SEE THROUGH WF
30 357199 ALMD 357150 BLK CLAMP CAM & RAMP WF
31 350621 ALMD 350310 BLK COVER KIT INTELLIFLO FWC
32 353200 SVRS SUCTION GAUGE (Not shown)

INTELLIFLO® VS+SVRS and INTELLIPRO® VS+SVRS Variable Speed Pump Installation and User's Guide



Pump Dimensions

N
\
23.41in (594.6 mm) 10.78in (273.8 mm)
0 ® ‘ 2
™~ | - 0aO000D
- — ODS—S000
~ —— ) ® u)
< —— ® ;‘IH (w]u] E:
(@} CT ] 000
L 5
o n
Flow and Power vs Flow Pump Curve
100 ‘
T 1
MAX SPEED - 3450 RPM | ———
20 T~

= T~

(NN}

= 80

<C —

= SPEED 4- 3110 RPM | T \\

o N

| ol \

[ 5 Y

= 60 N

o I

<t 50 N \

T ~ N

= 40 | SPEED 3-2350 RPM N

= B N

= T~ \

3 30

=2 T

5 20 .

= SPEED 2 - 1500 RPM ——+—__

10 S —
SPEED 1 -1100 RPM | ——
(0]
(0] 20 40 60 80 100 120 140 160 180
FLOW RATE IN US GALLONS PER MINUTE

Electrical Specifications

Circuit Protection: Two-pole 20 AMP device at the Electrical Panel.
Input: 230 VAC, 50/60 Hz, 3200 Watts

INTELLIFLO® VS+SVRS and INTELLIPRO®VS+SVRS Variable Speed Pump Installation and User’s Guide





